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ECONOMICS FOR IBMS VOORBEELDEXAMEN

Choose the one alternative that best completes the statement or answers the
guestion.

1. Which of the following best describes the characteristics of models used in
economics?
A. Models are usually complex abstractions of reality that simulate
practical problems.
B. Models are simplifications of reality that include only essential
elements and exclude less relevant details.
C. Models are approximations to reality that capture as many details as
possible.
D. Models are demonstrations of how economic concepts and theories
accurately predict real situations.

2. Refer to the graph below. How would you characterize (or define) the
relationship between disposable personal income and consumption spending?
A. A relationship that may be positive and negative, but sometimes neither
positive nor negative.
B. A positive relationship.
C. A relationship that is sometimes positive and sometimes
negative.

D. A negative relationship.
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3. Which of the following is not an essential component of an economic model?
A. Normative statements.
B. Hypotheses.
C. Variables.
D. Assumptions.
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4. Which of the following graphs is the graph of a single variable?
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5. What is the name given to the highest-valued alternative that must be given up
in order to engage in any activity?

A. Scarcity.

B. A tradeoff.

C. Opportunity Cost.

D. The production possibilities frontier.
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